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1. HIERE

X 0 -0.4552 -0.6913 -0.8640 -0.9689 -0.9996

Y 0 03285 0.3467 0.2716 0.1408 -0.0160

2. iR FIRE

S=sqrt(diff(x).”2+diff(y).*2);
S=[0,S];Sk=cumsum(S);
sk=linspace(0,Sk(end),24);
xt=spline(Sk,x,sk);
yt=spline(Sk,y,sk);
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EX 54: B{ERXIE[a, bl EBI—1 57X

a=x,<x <..<Xx =p
n

E%ﬂﬂxj) =yj (’ =0,1,---,n), 2N R

f S1(x)9x € [x09x1]

S(X)=< SZ(x)9x€ [x19x2]

S, (x),xelx,_,x,]

mE: (1) SO [xp x| ERA=ZRZTR;
2) S”(x)EX 8 [a, b]_l: 4
3 Sx)=y; (j=0,1,"--,n).
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n N =REMA (BN ZRIMARINFERR), FERW

Hqnit! !

SHx€[x;, x| (j=0,1,...n-1 )&}
Six)=a;+ b;x +c;x* +d; x3

BAEEENXAEMBFREM@-2)! | Why?

TREFET: Sx) =y, (j=0,1,,n)

BEHEMEFRAF: S(+0) =S(x-0)  (j=1,"".n-1)

S’ (x+0) =S’(x-0) (j=1,"",n-1)

$”(x+0) =S"(x-0) (j=1,",n-1) )
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(1) B0 7751 §7(x0)=0, §7(x,)=0
Q2)E AT FEE: $7(c)=5"(xy)s S7(xX0)=8"(x;,)
B)EEDFFE: S )= "(x0)s S Cen)=f ()

Hl 57 BHEIA-1D=1,/0)=0, (1) =1IFTR
E7E =R EEARFFEY.

1x3 +§x2, x e[-1,0]
2 2

S(x) =+ , 3
——x+=x%, x€[0,1]
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iEER S-D=1 S1)=1 S0-)=S0+)=0 5
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KFHE
%xz +3x, xe[-1, 0]

§'(x) =1 3 §"(x) =
—=x"+3x,x€e[0,1]
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3x+3,xe[-1,0]
—3x+3,xe[0,1]

BR S5'(1)= -2 S'm=7 $'(0-)=S"(0+)=0
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S"(-=0 $"(1)=0 S"(0-)=5"(0+)=3
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i% fix) ERBET S x; LH—M S8R m; CRED)

HY Xiy1 —X; = h, (j=0,1,2,---,n).8 x€ [xj, X, B,
4 EtHermiteff{&
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h

d )Zyj+1

X—=X; X —X, X —X
$(x) =A+2— =)= —)"y; +(1+2———)

X~ X, X—=X; 5
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HS0ES: AER: §7K;+0)=S"(x;— 0)
%JI:E\ S”(X) EEIZIE] [xj 0 x]+1]*[| [xj_l 0 xj]_tﬁitiﬁ.
Hx€E [x; xj+1]H=j-9 S(x) BE R A SR

a;(x)=(1+2 YT )(xf+1 —x)2
h h

o, (x)=(1+220 Ty Ty

h h
Xing — X, i‘>
B;(x) =(x—x,;)(— P )
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j> §°(x; +0)=aj(x;)y; + o, (x,)y;,
+ﬂ;’(xj)mj+ﬂj+1(xj)mj+l 9




A—R SRR




A—R SRR

BB AR F AL, B

] 6 6 4 2
$7(x, +0)=_FJ’0+?J’1 _;mo _;m1 =
; 6 6 2 4
S(xn_0)=?yn—l_?yn Z n—1+;mn=0
BAEFRNSRERE:

3
2my+m, = ;[Jﬁ — Yol m,_ +2m, =—|y, -y, ]
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MATLABHEZ S yi = spline(x, y, xi)
x=-5:5;y=1./(1+x."2);
xi=-5:0.1:5;f=1./(1+xi.*2);
yi=spline(x,y,xi); error=max(abs(yi-f))
plot(x,y,'o',xi,f,xi,yi,'r'")
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error = 0.0220
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WA)ECa, b], MFa=x,<x;<...<x,=b8
Sx)=y(j=0,1,:--,n).S(x) Z# FES(x;)=y;(j=0,1,**,n)
M= REZAEENB

1S [[=] 7o)

SER: 1| ()= S"(0) IP= [ 1"(x) = 8" (o)l dx
= f [f"(x)]"dx -2 Lb £"(x)S"(x)dx + j” [S"(x)] dx

= £ -2 1) - S"(x))S" (x)dx— | S |




"L~ 818" (o)dx = = [ 1f(x)= 8" ()™ (x)dx
==, S71f(x)=S(x)] =0

FRL 0| £ =S"IP=I £71F = ST o
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B [IS" o de< [ [ (oPd

HEEERBS(x)Ea, b] EREEZES ).
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